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QUESTION 1

A customer has an existing 8-node cluster that consists of six FAS2650 nodes and two FAS2554 nodes. The customer
wants to expand the cluster by adding two AFF A220 nodes.

Which resource would be used to determine whether this configuration is supported?
A. Interoperability Matrix Tool (IMT)

B. Config Advisor

C. OneCollect

D. Hardware Universe (HWU)

Correct Answer: B

QUESTION 2
Click the Exhibit button.

11> volume show
Vserver Volume Aggregate State Type Size Available Used%

svm fcpl moved parent temp 1033 100 voll node 01 aggrl offline TMP 1TB - =

svm fepl voll node 02 aggrl online RW 1TB 19.31GB 1%
svm fcpl voll clonel node 01 aggrl online RW 1TB 19.28GB 1%
swn_fcpl voll:clone2 node_t}l:aggrl online RW 1TB 19.28GB 1%
svm fcpl voll clone3 node 01 aggrl online RW 1TB 19.28GB 1%

You notice that your volume named voll has a temporary volume that is doubling the space that is used by the volume.
In this scenario, which operation caused the volume to take up twice the space?

A. FlexClone

B. SnapRestore
C. FlexGroup

D. SnapMirror
Correct Answer: D

Reference: https://community.netapp.com/t5/Data-ONTAP-Discussions/Volume-takes- much-more-space-than-
expected/td-p/100619

QUESTION 3

Which NetApp tool provides a detailed inventory of SAN components?
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A. Active IQ OneCollect

B. Interoperabilty Matrix Tool
C. Active 1Q config advisor
D. Hardware Universe
Correct Answer: A

ActivelQ OneCollect is a tool from NetApp that will create an inventory of your environment that will include hosts,
switches and storage and validate it against the IMT (Interoperability Matrix Tool).

QUESTION 4

In an NVMe/FC environment, the host cannot discover the namespace on the AFF system. Referring to the exhibit, what
is the problem?

£ cat /etc/nvme/hostngn
nan.2014-08.org.nvmexpress:uuid: 75953£3b-77£fe-4e03-bf3c-09d5al156£fbcd

*> vgerver nvme subsystem host show -vserver vs_nvme 10
Vaerver Subsystem Hoat NON

rhel 141 nvme ss 10 0
ngn.2014-08.org.nvmexpress:uuid: 3caS559¢1-5588~4£fc4-b7d€-5ccfb0b9£054
A. The host MPIO drivers are not installed
B. NVMe is not supported on the FC adapter
C. The NQN is not correct
D. The NVMe service is not running on the SVM
Correct Answer: C
We would not be able to run that command if NVMe is not enabled NVMe is supported on the same SVM along with FC

protocol The multipath tool on NVMe is called ANA NQN needs to be correctly declared on the subsystem to map the
new NVMe resources

QUESTION 5

An administrator configures NVMe within an SVM for a test environment. The administrator creates an NVMe
namespace and an NVMe subsystem. The administrator then maps the namespace to the subsystem. However, when
the administrator establishes a connection to a supported host, the following error message appears: No discovery log
entries to fetch.

What is the solution to this error?

A. Add the host WWPN to the subsystem.
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B. Disable the host HBA and re-enable it to clear the buffers.

C. Add the host NQN to the subsystem.

D. Use the nvme ns-rescan /dev/nvme0 command to rescan the bus.
Correct Answer: C

Reference: https://www.netapp.com/us/media/tr-4684.pdf (39)
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